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(1) b:/jf’(t)dt eBY, fO)=2+b, f(5)=-2+b

L7d3oT, b= f(g) — £(0) = —4

f(z) =2cos2z + asin2z — 4

(2)  f'(z) = —4sin2z + 2a cos 2z
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(4)  f"(z) = —8cos 2z — 8/3sin2z = —16sin (2:c + %)
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(1) fl(z)=1+1log(z+1)

2 f(z)=14loglz+1)=0 %M@t az=e'-1
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(3) 2BHFRDARRIZ (0,0) THDY, 05z <1 OHIPAT f(z) 2 zlog(z + 1)

i S = /01 {f(a:) — zlog(z + 1)} dzx
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[N HBE] @ECHNTE, EALTTRGIEBESEZRAL)
(1) fl@)=32-3 , f(2)=9

B) (2) &Y flx)=2>-3z+1 , flz)=3@x+1)(z—1)
z -1 1
F@) + 0= o0+

flx) | /| x|\ | @]
3 1

z=—10DLEIMWMKT, WAMHES3
z=1®DLEM/INT, HIME -1

Tyglz)=2*+3z—-1,%D, ¢(z)=3:2+3>0 &P
g(z) 13,
y=g(z) & y=rk OIXAROMEHH2 L kB L 0H S k= 2L7 3



